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5th Grade5th Grade
EnglishEnglish

Festivals

1-6: For these questions, choose the best word or 
expression to fill the blank(s).

1.	 Mario	 : Do you know the festival, Cinco de Mayo?

	 Amy	 : Yes, it’s a Mexican festival.

	 Mario	 : - - - -?

	 Amy	 : On 5th May every year.

A)	 What about singing
B)	 When do they celebrate it
C)	 What is the name of the festival
D)	 Why do you celebrate this festival

2.	 Abdullah	� : �During Ramadan feast, we visit our relatives 
and eat lots of sweets.

	 Sally	 : How nice. - - - -?

	 Abdullah	 : It’s a three day feast.

A)	 Which days do you celebrate it
B)	 How many people do you visit
C)	 What do you do on these days
D)	 How long is it

3.	 Mark	 : Shall we decorate the class for Youth and 	
	   Sports Day?

	 Sue	 : That’s a good idea. - - - -?

	 Mark	 : Flags, flowers and balloons

A)	 What do we need for it
B)	 Would you like to help me
C)	 Which feast do you celebrate
D)	 How many guests come to the party

4.	

	 People - - - - on Chinese New Year

A)	 wear uniform

B)	 watch fireworks

C)	 listen to music

D)	 visit neighbours

5.	

Children sing, dance and - - - - on Children’s day.

A)	 visit relatives

B)	 play chess

C)	 have lots of fun

D)	 have big lunch

6.	

107

A - - - - 
and seven

69

- - - - nine

2300

Two - - - - and
three hundred

A)	 hundred − Sixty − thousand
B)	 thousand − Sixteen − hundred
C)	 million − Six − thousand
D)	 thousand − Sixty − million
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7.	 1.	 52		  a)	one thousand and seven

2.	 1007		  b)	thirteen

3.	 437		  c)	 four hundred and thirty seven

4.	 13		  d)	fifty two

	 Which of the following matchings is CORRECT?

A)	 1d − 2c − 3a − 4b
B)	 1c − 2d − 3b − 4a
C)	 1a − 2b − 3d − 4c
D)	 1d − 2a − 3c − 4b

8.	

Linda

	 How many eggs does Linda have?

A) thirteen	 B) eleven	 C) twelve 	 D) twenty

9.	 There are 845 candles.
	 Which of the following is CORRECT for the number 

above?

A)	 Eight hundred and fifty four
B)	 Eighty thousand and forty five
C)	 Eight hundred and fourteen
D)	 Eight hundred and forty five

10.	 On Hıdrellez, Turkish people jump over a fire.

	 Which of the following reflects the expression above?

A) B)

C) D)

11.	

On Children’s day,  we host
fifty three Mexican, forty nine 
Indian and sixty eight Chinese 
children this year.

Burak

	 Which of the following is irrelevant to the conversation 
above?

A) 53	 B) 49	 C) 68	 D) 38

12.	 I.	 There are three hundred and sixty five days in a year.
	 II.	 Three thousand people are celebrating Youth and 

Sports Day in the stadium.
	 III.	Mr. Wilson has ninety two sheep on his farm.

Which of the following is the CORRECT order of 
numbers from big to small ones?

A) I - III - II	 B) II - I - III	 C) III - II - I 	 D) I - II - III


